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aol> bl sl astic

owlaodl asleo 2508 L ii> 328 @ > Y = - ax: oLasYl ol 13] . w (25)
it 150 Y small go 0,8 glolis alnisi sic

y=¢e -ax
x=0=y=e -a(0) =1
(0, 1) 1@ oxall go Vi8I (izio glolsi dlnsiy
dydx=ex - a
1o dlaail 032 2ie jwlaall Jio
dydxx=0=eo-a=1-a
tsd gwlood| alsleo
y-1=1-a)x-0) = y=1-ax+1
Y =2+ 3x + 5% :0L,isW 2 alio pwlow 3929 pas cuil 12z (26)
o ade alaii e Limioll gulao Jio Y’ = 2" + 3 + 15x°
20" > 0 gls JSIx
15x* = 0 9ls JSIgx
2" + 15x° > 0 ols JSJ ail s gaxlligx
V' >3 ol sl 28+ 155 + 3> 3 glo x S s dall 3 aslolis
X patial) axisi> dasd Y 2 solus dad 0S5 Ol pSe Y 03]’
ue Y jszall glasy olizio 059 k > 0 1> 1y = ke* LYl QS 3]
Lol oVl odlsdl o cuzls P alasill
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X 920l go P alasill sis ol,idY] Gizio ywlos glolss dlnii 351 (27)

.0 92 Y 9ol go y = ke* Lixinll golas alasid ilasYIx
(0, k) bod P oilas] of sl v of s 0l,8Y] asleo (9 jasgailgy = ke’ = k

dydx=kex=dydxx=0=keO=k
rod wleoll dsleo

y-k=k(x-0) = y=kx+k
V=0 gogsi Jyxoll go asbolas alasi olaYsx

O0=kx+k = x=-1

(-1, 0) i@ X joxall go 2ic Hulooll gbolai alnsi «5|P

100,) alaadl sis X jgmoll glais P alniill ais pwloall wls sog0sll oS 15 (28)
Kk deud 220 (0

1k- 9o alnaill sic jwlaodl (e s2902l JioP
b gwlaadl Gle s2g02ll dolro
y-k=-1lk(x-0) = y=-1lkx + k
0l a2 eolad] abaii wilao] pasgsig
0 =-1k(100) + k = k*=100 =k = +10
Ve k>0.9lbk=10
Bl oVl odladl o wuzls by = log x ol,sYl olS 1] s
dydx= 1x In 10 ol el (29)
y=1log x =1log,, x =1Inxln 10 = 1In 10lnx
dydx=1In10x1x=1xIn10
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e Y = log ax® 1ol dydx szl g budl Jlgwd! (o axidl e Tasizo (30)
y =log ax’ = log a = log a + 2 log x
dydx=0+2x1xIn10=2xIn10

(psbiae Hlus 9 IRy paw> gdgo t > 0,8) =4 - sin £)s :gLadYl Jied o w
tilsill gosll t g SlioYl gdgall 5 >

b 1 s as ) lwg puull s w2zl (31)
s(t)y=4-sint
v(t) = -cost
a(t) =sint
a8Vl 32 850 Jsl slam) OsSw All> 8 O loris auudll g8se 121 (32)
v(t)=—cost=0=t=n2,312,512,...
M2 loaic adMail s 610 Jo¥ o) 0sSuw o 9 | HoSit =
b e ardgn )9S59S(112)
su2=4-sinn2=4-1=3m
silz] 150 380 af s lus 055 loris auudll g8so 121 (33)
alt)=v'(t) =sint =a(t) =0 =2sint=0
10l sz @gall OLyudl (8 axuiil] o3d Lagisg
sS(f)=4-sint=4-0=4

Do as,lus boaie ais 9950 pawdl of sls =4 m
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